ought: obligation
prohibition: should not
permissibility: may

theory shell


a (interp): debaters must not challenge the assumptions of the resolution
[bookmark: _GoBack]b (violation): x argument challenges y assumption
c (standard): predictability, infinite number of implicit assumptions
reciprocity, proving the assumption of the resolution to be true is not enough for the aff to win round by opposite enough for neg to win round
topic specificity, assumptions that are challenged can be carried over, don’t actually talk about resolution in the first place
clash: shift focus from substance
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